Model LD ih/BE# 4 Model

{mm) BSERT
LD0262-[]|LD0262-[]-E LD0302-[] LD0302-[]-E LD0362-] LD0362-[]-E LD0452-[] LD0452-[1-E
HETE 6.5 6.5 8 8 8 8 10 10 FoN REEEESE
A 66 725 73 81 69 77 82 92
B 24 24 27 27 32 32 4 M
® 26 26 30 30 36 36 45 45
D (XS ) M26x1.5 | M26x1.5 | M30x1.5 | M30x1.5 | M36x1.5| M36x1.5| M45x1.5 | M45x1.5
E 57 57 62 62 58 58 71 71
F 7.4 7.4 9.4 9.4 8.4 8.4 9 9
G 408 408 423 423 1.3 73 50.2 50.2
H 8.8 8.8 10.3 10.3 8.3 8.3 11.8 11.8
J 24.2 24.2 28.2 28.2 34.2 34.2 432 432
T 9 15.5 1 19 1 19 11 21
U 10 10 12 12 15 15 16 16
v 5 5 6 6 6 6 6 6 K
w 8 8 10 10 13 13 13 13 mm
X(EERBXR ) M6X9 M6X9 M8X12 | M8X12 | M10X11 | M10X11 | M10X11 | M10X11 Eicd mm
BA 9 9 11.5 11.5 12.5 12,5 12.5 12.5 HMEER (ef 2
BB 3 3 4 4 4 4 4 4 e mm .
s BC 8 8 10 10 11 11 11 11 TEFTR mm 17.5 205 23 26.5 33 42
é cB 245 245 28.5 285 345 345 435 435 TRAR mm 3 3 3 3 3 3
bt @ 16-47 16-47 | 17-50 | 17-50 18-48 | 18-48 | 21-58 | 21-58 BAME L/min 1.0 1.6 26 4.7 9.5 18.9
= cD CC-6 cc-6 cc-8 | cC-8 CC-7 | CC-7 | CC-7.5 | CC-7.5 MERE m’ 10.0 16.7 25.0 44.8 88.6 1733
3 CE max.8 max.8 max.10 | max.10 max.10 | max.10 max.12 max.12 S ‘ KE kN 0.25 0.40 0.63 0.81 1.52 1.58
S CF p.cd.19 | p.cdi9 | p.cd22]| pcd22 | p.cd26| p.cd26 | pcd30 | p.c.d.30 - \ ks kN 0.13 0.19 0.33 0.44 0.81 0.83
2 ca max25 | max25| max3 | max3 max5 | max5 | max6 | max.6 REREAG . 06 26 26 o8 o8 210
3 DA AS568-013|AS568-013|AS568-014|AS568-014| AS568-015 AS568-015 AS568-016| AS568-016) KEEBRALYRE kg 0.2 0.3 0.5 1.0 1.5 3.0
E (90°) (907) (90) (907) (909 (907 (90°) (907) R g kg 07 1.0 1.5 24 43 8.1
DB 8568-020 AS568-020 AS568-022| AS568-022 AS5 26 AS568-026/ AS568-030 AS568-030) REGHRBFZEERE BESH129) N-m 7 7 12 29 57 100
(90°) (90°) (90°) (90°) (90°) (90°) (90°) (90°)
EY SR30 SR30 SR30 SR30 | SR50 SR50 SR50 SR50 @ HEEM:25~7 MPa
Oil pressure range :2.5~7MPa
@ (R E:10.5 MPa
Guaranteed pressure :10.5MPa
x P BT 4 AHIERT R ® i AR 0~70 °C
Operating environment temperature :0~70
L LD0302-[] LD0362-[] O AR EER MBI R (104 F150-VG32)
EB 45 s 8.2 82 Fluid used: common mineral oil based hydraulic oil (equivalent to ISO-VG32)
= . S s @ SRR E R TR A .
C B5 © 26 26 Chlorine cutting fluid spray environment can also be used.
ED 35 5 6 6 1R R ERE
EE 8 10 10 10 R AR
1: The value at the clamping position
EF 6 7 7 7
EG 15 2 2 2 KOEBE AN KERURBERERKE, BETRENRZ.
- 2: When multiple clamps are used and the oil pressure piping is long, please pay attention to the piping inner diameter.
o e M8 L M1 #3IENERTERMRZERMAR, UEMTREMHORZERE
oREHA & = = = %31 SHME R 3 EETARAR, (L) BRI EERE.
3: The shape of the clamping arm is the same as that in the outline size diagram, and the clamping arm quality is only
EEEE. increased when the length is increased

1L RE MR, (TR THEMR S RE R T AP ASIRER, HSRRRHE, REONKE
o S, LA HEHORE.

2 AP ERFREEN, FERERHERARYT, B, FBHLETHHERE, (APANFRFHEN, AXDFRERER
HIBIE ) o

3.1 BT )65 A AT RO SRR, BT M IR AT R S R SR AR N1 568U E

AHEATHERSELREN, SEBRNTETBBIHEE, HIHRE,

SIMRAEEM LA AR, EEAHEEMTHHHNRRBORRK, FATAEHEERT 42 MEELMBORKE TREREDE,

> 21

i, WEMEE. BE

22

W02 NOYSORYMI MMM




W00 NOYSORYM} MMM

4z FEMRESO V1

e [ @ ]/

v4

2-0B17 B2 7

C Y2 (Hskget &)

=
B
Bl %
*
sl =
F
g
<
sow || ORE =
g
0G 5,
& & }
E
i B
- /{\} “[
O o)
R3
23

cC

AL
O £RACLTO-FRMIME. CLTO-LRACLTO-REE

REBHREFEARRSN, HARTHSCLTO-FR
.

Lz gl RiAME

S

© K R B EMR R

Model

T04-00 CLTO6-[]

A 97.5 110 1245 138 169 201.5

B 45 50 57 70 86 108

C 55 60 66 82 96 120

D BZ55] 35 Bi25] 47 53 66

E 225 25 28.5 35 43 54

F 35 40 46 56 68 88
oG 39 47 53 63 78 100
oH 12 14 14 16 22.4 28

K 375 45.5 55.5 54 69 80

L 27.5 27.7 29.3 36.3 41.5 47

M 55 585 63 76 89 108.5

N 5 6 6 8 11 13

R1 125 125 125 14 14 21

R2 m 12 14 18 225 25

R3 25 28 30.5 36 42 57

R4 20 22 26 30 38 50

S 1.5 13 13 17 21.8 275

T 10 12 12 14 20 26

U (34iA%) 6 6 8 10 1 16

\% 18 17 17 20 20 20

\al 1 13 15 19 25 32

V2 34 36 39 48 545 65

V3 24 26 30 355 44 53

V4 21 21 28 37 46 56
oW 55 5.5 6.8 9 1 14
oX 10 10 12 15 18.5 20

Y1 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8

Y2 38 38 3.8 4.8 4.8 4.8
Y3 14 14 14 19 19 22

Z C1.5 C2.5 Q5 a 3.5 5.5
o81 632 6312 840 104 I 16743
o82 67 5 e e EE it

B3 (F%F) STW-6 STW-6 STW-8 STW-10 STW-14 STW-16

B4 (FFF) STW-6 STW-6 STW-6 STW-8 STW-12 STW-14

CA 49.5 52.5 57 68 80 96

B 48 59.6 67.3 78.7 98.2 1335

cC 80.2 925 101.3 120.4 144.7 189.2

(@) 69" “n° #%70° #4707 69" “72°

HA 12 12 16 19 22 32

HG 16.5 18.5 21 24.5 30.5 375

O (MIRAL 3 EHs90) P7 P7 P7 P8 P8 P10
TEILHIA G TR) HVCFO1 HVCFO1 HVCFO1 HVCF02 HVCF02 HVCFO03
¥ EE SRR S B ANTARE .
24

W02 NOYSORYM} MMM




W02 NOYSORYM} MMM

>

Max. 9BC

Max. 0BA

o

Model CVH

Kih BEAE
04 16 maimE
CVH 06
S RCELRE
08

F 35 40 46 56 68 88
R2 1 12 14 18 225 25
R3 25 28 305 36 42 57
0BA 40 48 54 64 79 101
88 Ms M5 M6 M8 M10 M12
0BC 4 4 4 6 6 8
FEEMTE
R EE . E AT RT B
G0l | E
: <
i ﬁ—t B I 3|
o 5 &J# <
oIH7 oHH7 co8
MinC02)  (Min.C02)
HR (7)1 545C (HB167~229) o
A 12 12 16 19 2 32
B 14 16 20 25 31 38
D 55 6 6 8 9 125
E 5.5 6 6 7 10 13
F 3 35 6 7.5 95 95
G 165 185 21 2.5 305 37.5
oH 67" 67 67" 875" 127 147
o 65 6" gae | wwt | wet | edr
N 6 6 8 10 1 16
P 14 17 17 20 265 36
R R3 R3 R4 RS RS.S R8
s 12 135 135 17.5 2 28
T 3 4 4 5 7 8
e B R EE A RET R
25

= =2 CVH04 (4 inch) CVH06 (6 inch)
% 7 (e FE 7 MPab) kN 10 20 30
FNATE (HE) mm 5.6 5.8 6.0
BAKHINE mm 100 145 190
BARFAE mm 125 170 220
e ‘ SME IS cm? 11.6 23.7 34.6

‘ B cms 1.6 23.7 34.6
B B kg 4.6 8.3 15.3
RRARIE EENE GRE2£12.9) N-m 12 29 57
MR R RE RERE GRES %129 N-m 29 57 77
AR 26 (m6) x 18 28 (M6 ) x 24 210 (M6 ) x30

@ HEEE: 1~7Mpa @ RIIFE: 10.5Mpa @ EAFEERE. 0~70°C @ A YBE PiBERES (8% FISO-VG32)

Tl

i B H 2N FMRMER TS, BiaET

HRERE, BAHETRAPOHTRENNT.

BATEUNIOREXFMRREFFRHOEH L,

STHBEN T U RFEKFMAREIT,

HETIAKE

MOBHETRANTSEER/)N, BURESENT

ARERTREODHMNT,

BBTHORRNITREKFRN, THERTR—RMERF,

26

W02 NOYSORYM} MMM

<




